

## SUMA Y RESTA DE FRACCIONES MISMO DENOMINADOR

Copia y resuelve en el cuaderno y escribe el resultado:

$$\frac{2}{2} + \frac{1}{2} = \underline{\underline{\quad}}$$

$$\frac{7}{5} + \frac{1}{5} = \underline{\underline{\quad}}$$

$$\frac{2}{3} - \frac{1}{3} = \underline{\underline{\quad}}$$

$$\frac{5}{4} + \frac{2}{4} = \underline{\underline{\quad}}$$

$$\frac{3}{10} - \frac{2}{10} = \underline{\underline{\quad}}$$

$$\frac{7}{9} + \frac{1}{9} = \underline{\underline{\quad}}$$

$$\frac{6}{2} - \frac{1}{2} = \underline{\underline{\quad}}$$

$$\frac{7}{3} + \frac{3}{3} = \underline{\underline{\quad}}$$

$$\frac{5}{7} + \frac{4}{7} = \underline{\underline{\quad}}$$

$$\frac{8}{13} + \frac{1}{13} + \frac{2}{13} = \underline{\underline{\quad}}$$

$$\frac{5}{2} - \frac{1}{2} + \frac{3}{2} = \underline{\underline{\quad}}$$

$$\frac{10}{7} - \frac{4}{7} - \frac{1}{7} = \underline{\underline{\quad}}$$

$$\frac{4}{11} + \frac{5}{11} - \frac{2}{11} = \underline{\underline{\quad}}$$

$$\frac{2}{9} - \frac{1}{9} + \frac{7}{9} = \underline{\underline{\quad}}$$

$$\frac{7}{2} - \frac{1}{2} - \frac{3}{2} = \underline{\underline{\quad}}$$